
Worksheet # 2 Answer key

1. Jxhdx = tc In -1--1)

2.) Tx d✗= f ✗
"
2 d✗=n ✗

%

+C = g- ✗
%
+ c

%

prep

3- ) fgdX= Jx
- 9d×= X

- 8

- g
tC=

- ¥ + C

prep

4. ftp.dx-fx-kdx-a ✗
"2
tc = zrxtc

Yz
prep

5. J dy, DX =) ✗
-Fax = a ✗

%
+ C = 4- ✗

%
+ C

¥

6. fcosxdx = sinxtc

7 . I sinxdx = - cos✗+ C

8
. I see ✗ DX = tanxt C

9. J secx - tanxdx = secxtc
Constant

v

10 . f-
'

(X ) = ¥ ÷, ✗
+ ✗
%
-

I

✗ 314
+ ¥ + ¥3 + ¥14 -¥3

prep

- ¥ 3-4×+11%1- ✗
' "
"

+4g + ✗

""

3+3-4×-4 -4×-3

= 34-+3-4×-44 I:-, +0-4=5%+3,4-(-44×-5) Imi "

= 34-+3-4×-114 +3-4%4 -4-3×-73 - 3×-5+12×-4

3

0% = 34 + y3µ, +
3
-

4

4×74 3×73
-

✗s
t

12

✗ 4



11
. / fix)dx= / 4- ✗ + ✗

"
4- ¥4 + ¥ +¥, + ¥-4 -¥ DX

prep

a. Ive / Ex + ✗
" I"É¥ + ✗

- ""É¥×-4+-14×-3*5
in # to

2

=÷¥±¥÷=Y¥+¥×±E +* ¥-41;¥+c
simplify
= 3×2 + ¥x% -4×44+43×-35

"
}
- IFI 2×-2 + c

8

OR
,

= 3¥ + ¥ ✗
"
4- 4×44+43-11 - ¥, -41×3+2×2 +C

12 . 1×311+1/2 / dx= / ✗ "+ x5d✗=¥t# + c

✗112 L L

13 . J ✗ + Txt >

× }
d×= |¥t¥¥¥d× My Kxtx

'"+Ñx→d✗
split - Split :

pref JX
-2+5%+7×-3 d×

=

t.EE?iE+c---x-l-2-zx-%
-7-2×-2+

CORY= ¥ - ¥3k - ¥2 tc



14 . J ✗
'
+ ✗ ( ltx)2dx =/ ✗ '+ ✗ ( ttx ) / HX) DX Fon Algebra

=/ ✗4×11>+2×5×+1/2 )dx Distribute

=/ ✗ ' + ✗ +2×4×3 DX

Combine + Simplify

= J ✗ 3+3×2 + ✗ DX

= ¥+331 +Etc
= ¥tx3+ + C

is . f- 3. iosx - sech -7sec xtanx - sinxdxt

=-3 (sinx) - tanx -71secx) - fcosx)tC
-
-

= - 3sin× - tanx - Tsecxtcosx + C

16
. y= Zxtsinx Horizontal Tangent Line means Derivative equals O

set

y'= Ztcosx =o
Solve cos×= -2 which has no solution

not possible > Recall Range of cosine is 1- 1,1]

OR,
think about Unit circle .

1-

y=iosx

¥
21T

-1-



17
. f- 1×1=) FIX)dx =) Ztsinxdx

= 2x - cosxtc ← the Most General Anti derivative

Test Initial Value
0

f- (E) = 41¥) -¥É)tC¥3
Solve

IT 1- ( =3 ⇒ C.=3 - IT plug back in . - .

Finally ,
flx)= 2X - cosx + 3-IT

18 . fix)=Jf4x1d×= / ✗2+1 DX = 1¥ + Xtc
Test Initial Value

f- (1) = 1-3+1 +c 3

Solve

Ig + ( =3 ⇒
C- 3-4-3=9-3 - ¥=§ plug back in . . .

Finally , f- (X) = # + ✗ +§

>
>

✗
"
2

19 . FIX)=JfYHdx= / ✗ (2t Tx )d✗ =/ 2X 1- ✗
"
DX

=4¥±¥ +a
= ✗2+3×512+0

Test Initial Value

set

f- (4) = 16 1- 3- (4)%tC= 30
32

16+3 c--30

16 + 6¥ + C =3 0s c= 30-16 -6¥
= 14 -6¥
= -6¥ = ¥ plug back in

finally , f- 1×1=112+3×512+65



preps ✗
-42

20. f-
'

1×1=/ f- " Ix)dx= J ¥ +3×2DX

=a× +133¥ + cYz

= 2r× + ×
>
+ C

, use one f
'

condition to find C ,

Test Initial Value
,

f-
' (1) = 2# + It C , 2

4- I +4=4 ec
,
= -1

Collect so far :

f-11×1=2Txt ✗3- 1

Next :

f- 1×1 =/ f ' /×)d✗= / 2×42+113-1 DX

É3z§÷ +1¥ - ✗ 1- Cz use other f- value
to find C2

=¥×%+¥
,

-

✗ tcz

Test Value

f- 111=4,111%1+1-4 - I +Cz 0

¥ + ÷,
- I +Cz = 0

1%+3-2-1,2=+4--0 ⇒ Cz = -7-2

%

Finally, f- 1×1=4-3 ✗
%
+¥ - ✗ -1,2

GUESS AND CHECK

21 . 1-1×1 = - cos 13×1 because ¥ -

§ cos ×) in (3×1/3) ⇒ in 13×1 ✓
3



GUESS AND CHECK

22 . f- 1×1=2%1--8-1C = 2 sec✗ +8

"

Ztc

1 . (secx - tanx )= secxtanx match✓
because f-

'

4) =
2 '

zF×+F Ext

Now Test Value

f-101=2*601+811 7 Seco-_
1-
=/

CY3

6 tc=7 ⇒ c= ,

Finally .

f- 1×1=2%78+1


